INR—TY = e —bT 40 THASH

AR EL R HAHD IS H
BRI BAT D 3501 S
20224E2 7 4y =17
e
o=,
PR B R B (B
A [a] B HBATHAM R
20224F 2 1 4y (G ZeBi10%) | 2022481 H 4y GHEs Bize10%) BUTHME D2
= i 608 655 544%
I 5985 68% 5348

(T2 . JLiEEE ) R B SR S HAl O FH )
20224F2 H 45 DBRENE SR B Z20214E9 H ~20214E11 H ONEHBREHIIR I L0 B HHEN E3,

SERRIH S
202149 H ~20214E11H JE AR 113720 40,400  (A)
(100 F it PU 5. N)
% 4 W A RS Ml
AR AT RS 1kl &7V 54,537M 0.4699 25,627
SE A PR ARG 1t H7-0 18,785 0.7879 14,801
A YEREHITRE O R
FRYERREH S (B) FLHEE M (C)
= JEB 18.90%%
37,2001 e 18.40%%

B RIS DS R BHMEF 37,200 % _EEl>7- 5 &

WL B Bl

CEAREHT s (A) ~FEHEMVEHIRE (B)) X %

B AR DS B HERRBHMT 437,200 2 TRl 725 &

WL B Bl

CHEHEIREHIT S (B) TR BHIT s (A)) x A AIL(C)

B RBEFEBEMOBAI, 18:EL., Z0WMEIX., MR THEIMN CHBEALET,




